
7A Additional Formulae Identities 

 

 

1. Use 𝑐𝑜𝑠(𝛼 + 𝛽) = 𝑐𝑜𝑠𝛼𝑐𝑜𝑠𝛽 − 𝑠𝑖𝑛𝛼𝑠𝑖𝑛𝛽 to show that: 

𝑐𝑜𝑠(𝐴 − 𝐵) = 𝑐𝑜𝑠𝐴𝑐𝑜𝑠𝐵 + 𝑠𝑖𝑛𝐴𝑠𝑖𝑛𝐵 

 

 

 

 

 

 

 

 

2. Use 𝑠𝑖𝑛(𝛼 + 𝛽) = 𝑠𝑖𝑛𝛼𝑐𝑜𝑠𝛽 + 𝑐𝑜𝑠𝛼𝑠𝑖𝑛𝛽 and 𝑐𝑜𝑠(𝛼 + 𝛽) = 𝑐𝑜𝑠𝛼𝑐𝑜𝑠𝛽 − 𝑠𝑖𝑛𝛼𝑠𝑖𝑛𝛽 

To show that 

𝑡𝑎𝑛(𝐴 + 𝐵) =
𝑡𝑎𝑛𝐴 + 𝑡𝑎𝑛𝐵

1 − 𝑡𝑎𝑛𝐴𝑡𝑎𝑛𝐵
 

 

 

 

 

 

 

 

 

 

 



3. Prove that  
𝑐𝑜𝑠𝐴

𝑠𝑖𝑛𝐵
−
𝑠𝑖𝑛𝐴

𝑐𝑜𝑠𝐵
≡
𝑐𝑜𝑠(𝐴 + 𝐵)

𝑠𝑖𝑛𝐵𝑐𝑜𝑠𝐵
 

 

 

 

 

 

 

 

 

 

 

 

4. Given that: 

  2 𝑠𝑖𝑛(𝑥 + 𝑦) = 3𝑐𝑜𝑠⁡(𝑥 − 𝑦) 

Express 𝑡𝑎𝑛𝑥 in terms of 𝑡𝑎𝑛𝑦  

 

 

 


